



Nome: _____

Data: _____ Punteggio: _____

$$\left(-\frac{2}{5}\right)^3 + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{2}\right) + \left(-\frac{3}{4}\right) =$$

$$\left(\frac{1}{2}\right)^3 + \left(-\frac{1}{5}\right) =$$

$$\left(\frac{1}{4}\right) + \frac{3}{4} =$$

$$\left(\frac{1}{2}\right)^0 - \frac{1}{6} =$$

$$\left(\frac{3}{4}\right)^3 - \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{1}{3}\right)^2 + \frac{1}{4} =$$

$$\left(\frac{1}{6}\right)^0 - \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{1}{3}\right) - \left(-\frac{2}{5}\right) =$$

$$\left(\frac{3}{5}\right)^2 + \frac{3}{5} =$$

$$\left(-\frac{2}{5}\right)^3 + \frac{1}{3} =$$

$$\left(-\frac{2}{5}\right)^3 + \left(-\frac{1}{6}\right) =$$

$$\left(\frac{2}{5}\right)^2 - \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{1}{5}\right)^2 + \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{1}{3}\right)^0 - \frac{3}{5} =$$

$$\left(-\frac{1}{4}\right)^3 - \left(-\frac{3}{4}\right) =$$

$$\left(\frac{1}{2}\right)^3 - \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{3}{4}\right)^2 + \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{4}\right) + \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{3}{5}\right) - \frac{1}{4} =$$



Nome: _____

Data: _____ Punteggio: _____

$$\left(-\frac{2}{5}\right)^3 + \left(-\frac{1}{2}\right) = \left(-\frac{141}{250}\right)$$

$$\left(-\frac{1}{2}\right) + \left(-\frac{3}{4}\right) = \left(-\frac{5}{4}\right) = \left(-1\frac{1}{4}\right)$$

$$\left(\frac{1}{2}\right)^3 + \left(-\frac{1}{5}\right) = \left(-\frac{3}{40}\right)$$

$$\left(\frac{1}{4}\right) + \frac{3}{4} = 1$$

$$\left(\frac{1}{2}\right)^0 - \frac{1}{6} = \frac{5}{6}$$

$$\left(\frac{3}{4}\right)^3 - \left(-\frac{2}{5}\right) = \frac{263}{320}$$

$$\left(-\frac{1}{3}\right)^2 + \frac{1}{4} = \frac{13}{36}$$

$$\left(\frac{1}{6}\right)^0 - \left(-\frac{3}{5}\right) = \frac{8}{5} = 1\frac{3}{5}$$

$$\left(-\frac{1}{3}\right) - \left(-\frac{2}{5}\right) = \frac{1}{15}$$

$$\left(\frac{3}{5}\right)^2 + \frac{3}{5} = \frac{24}{25}$$

$$\left(-\frac{2}{5}\right)^3 + \frac{1}{3} = \frac{101}{375}$$

$$\left(-\frac{2}{5}\right)^3 + \left(-\frac{1}{6}\right) = \left(-\frac{173}{750}\right)$$

$$\left(\frac{2}{5}\right)^2 - \left(-\frac{2}{5}\right) = \frac{14}{25}$$

$$\left(-\frac{1}{5}\right)^2 + \left(-\frac{3}{5}\right) = \left(-\frac{14}{25}\right)$$

$$\left(-\frac{1}{3}\right)^0 - \frac{3}{5} = \frac{2}{5}$$

$$\left(-\frac{1}{4}\right)^3 - \left(-\frac{3}{4}\right) = \frac{47}{64}$$

$$\left(\frac{1}{2}\right)^3 - \left(-\frac{3}{5}\right) = \frac{29}{40}$$

$$\left(-\frac{3}{4}\right)^2 + \left(-\frac{3}{5}\right) = \left(-\frac{3}{80}\right)$$

$$\left(\frac{1}{4}\right) + \left(-\frac{1}{4}\right) = 0$$

$$\left(-\frac{3}{5}\right) - \frac{1}{4} = \left(-\frac{17}{20}\right)$$